
'14.. .A copper wire of length 1.0 m and a. steel wire of l.en.gth 
O~S m having equal. crais-scc·li1on.al, areas are joined end. lo, 

end. The C'omposite wire is s1rc1ched by a certai.n load 
which stretch,es lh,e copper wir1e by I mm. If th,e Young's 
moduli i of copper and steel are respeCIJ.vely 1 .. 0 x l ou N·m­
l and 2.0 x I o:i l Nm~, the t.ctal C'X.'tensim of the composite 
wtre1s : [Onli'■e April 23, 21131 
(a) l.75nnn (b) 20mm (c) l.!011D11 (d) 1.25mm 
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Therefore, total extension of the composite wire 

= lllc +&s 
= I mm +0.25 m= 1.25m 
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